WALT: I mnddnﬁingmhmmnddahmndhmm

I can add wsing column addition
I m:mmhmhndd;mnqmndd;m

I can add using column addition
I mmrmmhmmm.d.mudﬂdnuﬂ!ad

I can add 2-digit numbers using column addition.

| can add 3-digit numbers using column addition and dienes
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)W quickly canyou complete the additons??*




30112 |+ | 2] 2
Solve the addition|using hothl .metho.ds
Expanded| Method Column method
3 |1 | 2 3 2
+ 2 | 2|4 2| 2| 4
( + ]
( |+ i
( +
What is the same?
What is d%?juzn.t?
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Spot the .mistakes

Plenary




WALT: I mnddn&inqznlunmmdhndnmﬂtuﬂmnfﬁ

| can add using column method with exchanges
| can reason about using exchanges in column method

| can add using column addition with exchanges
| can spot mistakes is column method addition

I can add 2-digit numbers with exchanges using dienes and column method
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Place Value Grid Calculation
Hundreds Tens Ones
(W |
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Place Value Grid =~ We do Calculation

Hundreds Tens Ones
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Place Value Grid  You do Calculation

Hundreds Tens Ones
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WALT: I mmhﬁnd;mnqmmnﬁ;mm

I can subtract uwsing column method
I can reason on how to subbract using coluwmn method

| can subtract using column addition
| can compare column and expanded methods

I can subtract using column addition and dienes
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solve 4













Plenary

_ Correct or Incorrect? v or X
- 6]2 818 6(3]4
= —43 — 3[5 -3 5|4
- 25 53 320

For the incorrect examples, explain the mistakes.




WALT: I can suhiract using mhmm”ﬂw

I can subtract using column method with exchanges
1] m:mmhmboa&htmdmlthmm

| can subtract using column addition with exchanges
| can correct mistakes In column method subtractions

I can subtract wsing column method mith exchonges and dienes
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solve 4




White

Place Value Grid I do Calculation
Hundreds Tens Ones [226-1138
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Place Value Grid  We do Calculation
Hundreds Tens Ones 326 -143
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Place Value Grid ~ You do Calculation
2 [377]-[1[1]9

Hundreds Tens Ones




Plenlary

Correct or Incorrect?

Which of these regroups have been done correctly?

5 9
%' 813
R &' T
2 5
4] 4] %09
-228 - 155
4

v or x
8 4
816 517
—45 -39
6 7]
X'08 885
—AD 7 ~-325

]

For the incorrect examples, explain the mistakes.




